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Answer all questions

(a) Please provide examples of the different generic strategies that fashion
companies can adopt? In addition, evaluate at what stage in the
Strategic Planning Process would a firm select its generic strategy?

(b) What are the core characteristics a firm must manage to achieve and
sustain a competitive advantage? Provide definitions and provide
examples to support your answer.

23 Complete a TOWS Matrix (Weihrich, 1982) for a retailer of your
choice and suggest one short, one medium and one long term plan that
they should pursue?

END OF EXAMINATION
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25 marks, 500 words

Step 1: definition of porters 5 forces
Mention

The risk of entry- potential competitors
Bargaining power of buyers

Bargaining power of suppliers

Threat of substitute products

Rivalry of competitive firms.

Step 2:

Have to go through each of these forces individually and state if they are positive or negative

if all of the forces tend to be positive you should be opting for a differentiation strategy according to
porters generic strategies.

If all negative cost leadership
You can add focus to either of these as well. You can have a focus differentiation and a focus cost

leadership
Can list all of your forces and make a table to save words...

If you have a mixture you have to decide one way of the other. Or if you are stuck in the middle, you can
focus on innovation -200-250 words

Mention it is part of the micro environment and then discuss what other models can be discussed when
looking at the micro environment. Use these to back up your decision?

It doesn'’t have to be one firm but as long as they are part of a strategic group- their porters 5 forces will

be the same... you are analyzing an industry so you can use a whole strategic group.

—




image6.jpeg




